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T Ha I Ha 4
1 8:30 ~ 9:05 S14 XA VS RS R VEZERO A VS 54 XB
2 9:20 ~ 9:55 VEZERO A VS HiRS
3 10:10 ~ 10:45 VEZERO A RN VS VEZERO B
4 11:00 ~ 11:35 [a VS 4 XA
5 11:50 ~ 12:25 VEZERO B VS R
6 12:40 ~ 13:15 FiRS VS [a
ATJOvy 54 XA FiRS VEZERO A m& fés =1 7 b = (EFS JIE 3z
54 XA 0 - 1 2 - 4 1 -2 3 0 4
RS 1-0 0-0 2 - 2 1 2 5 2
VEZERO A 4 - 2 0-0 2 -0 2 1 7 1
ma 2 - 1 2 - 2 0 -2 1 1 1 4 3
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hiEN 0-0 4 -0 0 - 1 1 1 1
VEZERO B 1 -5 0 - 4 0 -2 3
v PN 1 -4 1 -0 2 -0 2 1

_ 54 XB RN VEZERO B v R fg = 5 : IE 2
>4 XB 0-0 5 -1 4 - 1 2 1 7 1
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7 13:30 ~ 14:05 & 0 -1 RN —1 SM1XA 6 - 1 VEZERO B — —

B1{i A2{i 51 RN

. A4fL 2 -2 B34 (]iva ma

8 14:20 ~ 14:55 VEZERO A 2 -3 14 XB — FiRS b PN — — ——

B4{i PK 2 - 3 A34i 741 Z4 XA
81i VEZERO B




